T B AT 2 MR B IR TR Tl st

W% AL MR = s | ST

xczx01_Z RIS L IR T AR A= 22 61.98
xezx01_ SRR LI TAE# BotlkiikE | s 0

xezx01_Z RN LI AEE 5Btk = B 0

xczx01_ 2 FRMR I LI AR H—TlE 9 73. 08
xezx01_ 2 MR LI AEE 5tk = 13 77. 74
xczx01_Z FIRMRI L IRTARE H—TlE 18 78. 58
xczx01 2 RN B HR T A F—TIR=E 25 75. 02
xczx01_Z FIRMRI L IRTARE H—TlE 6 75. 28
xczx01_ 2 FHRMRA LI A 5B = B 0

xczx01_Z FIRMRI L IRTARE H—TlE 19 78. 14
xczx01 2 RN T HR T A F—T R = 16 74. 04
xczx01_Z FMIRMR I LI TARE H—TlE 23 62. 7
xczx01_Z R AN L IR T AR Tl 1 71. 56
xezx01_ SRR LI TAE# Btk | s 0

xczx01_ 2 FHRMRA LI A 5Ll = 3 70.9
xezx01_ SRR LI TAE# BotlkmikE | s 0

xczx01_ 2 FHR MR A B TARE BT = 24 76.3
xezx01_ SRR LI TAE# 5Ll = 20 76. 66
xczx01_ 2 FHRMRA LI A 5L = 5 73.7
xczx01_ SRR LI TAE# BotlkmikEsE | s 0

xczx01_ S AR ARA B P TARE BT = 15 71. 04
xczx01_Z FHRMAR I L IR T AR BT E 10 4

xczx01_ 2 FHRMARA BT AR BT = 8 77. 28
xczx02_ 2 R MAR I L IR T AR BT E 14 80. 2
xczx02_ 2 FHRMARM B P TARE H—T R = 11 74. 86




xczx02_ 2 IR MRI LI AR H—TlE 17 76. 76
xczx02_Z MR LI AEE 5Btk = 2 79. 72
xczx02_ 2 FIRMR I LI AR H—TlE 12 74. 58
xczx02_Z MR LI AEE 5Btk = 21 80
xczx02_ 2 FIRMR I LI AR H—TlE 7 75. 32
xczx02_ 2 RIS L IR T AR = 4 74. 38
xczx03_ 2 FR MR LI AR Sy o | /411701 19 68. 96
xczx03_Z MR LI A 5 A= B

xczx03_ 2 FRMR I LI TARE T E 9 69. 62
xczx03_Z MR LI A L | A1 v 22 78. 16
xczx03_ 2 FHRM RIS LI AR T E 25 74. 22
xczx03_ 2 MR M T IR T AR Tl E 10 80. 14
xczx03_ 2 FIRMR I LI AR T E 16 70. 38
xczx03_Z MR M L IR T AR Tl E 5 70. 78
xczx03_ SRR LI TAE# P B 41 7.0 18 75. 72
xczx03_ 2 FHR MR M B TARE T E 21 74.7
xczx03_ SRR LI TAE# P B 41 7.0 24 75. 32
xczx03_ 2 FHR MR M B TARE T E 13 75.92
xczx03_ SRR LI TAE# P B 41 7.0 8 76. 08
xczx03_ 2 FHR M AR M B TARE T E 20 76. 38
xczx03_ SRR LI TAE# P B 41 7.0 11 73.1
xczx03_ S AR AR B P TARE S E 2 69. 24
xczx03_ 2 FRMAR I L IR T AR B E 17 78. 86
xczx03_ 2 MR LI T A BotlkikE | s

xczx03_ SRR AR LR TARE B E 23 73.78
xczx03_ S AR AR BT AR E S E 7 78. 82
xczx06_ 2 FR MR I L IR T AR B E 12 71.12




xczx06_ 2 R RIS LI AR = 15 74. 54
xczx06_ 2 MR LI AEE 5 Bt 6 78. 74
xezx06_ 2 AR LI TAE# BotlmikE | s 0

xczx06_ 2 R MR I L IR T AR = 1 71.64
xczx06_ 2 R IR MR LI AR = 14 74. 66
xczx06_ 2 MR LI A 5 Bt 3 77. 74
xczx06_ 2 R IR MR LI AR Sy o | /411701 4 74. 24
xczx04 2 MR B HR TAEE =R = 3 77.76
xczx04_ 2 FIRMR I LI TARE F=TE 12 81.9
xczx04 2 MR AN B HR AR =R = 20 74. 24
xezx04_ S AHRIRM LI TAE# BotlmikE | s 0

xczx04 2 PRI B HR AR =R = 16 78.6
xczx04_ 2 FIRMR I LI T AR FE=E 10 72.8
xczx04 2 PRI B HR TAE =R = 2 78. 12
xezx04_ SRR LI TAE# BotlmikE | s 0

xczx04_ 2 FHRMARM B TARE BT = 1 61. 44
xezx04_ SRR LI TAE# BotmikE | s 0

xczx05_ 2 FHR M AR A B W TARE BT = 7 80. 28
xczx05_ S AR LI TAE# == 9 78

xczx05_ 2 FHR M AR A BT AR BT = 21 77. 52
xczx05_ S AR LI TAE# == 19 74. 66
xczx05_ 2 MR LI A 5 =B = 5 76.9
xczx05_ 2 FHRMAR I L IR T AR BT E 13 80. 86
xczx05_ Z R A T IR T AR =l E 6 73. 44
xczx05_ 2 FHR MR I L IR T AR BT E 8 80. 86
xczx05_ 2 AR AR B TARE BT = 22 73.72
xczx05_ 2 FHR MR I L IR T AR BT E 4 83. 88




xczx07_Z FIRMRI LI TARE F=Ti = 15 75. 22
xczx07_Z MR LI TAEE 5 =Bt 11 73.7
xezx07_ SRR LI T AE# BotlmikE | s 0

xczx07_Z FARMAR I L IR T AR == 14 76. 04
xczx07_Z FIRMRI LI TARE F=Ti = 25 73.12
xczx07_Z MR I L IR T AR == 24 75. 32
xczx07_Z FMIRMRI LI AR FE=TMi = 18 81. 12
xczx07_Z MR LI A 5B =B = B 0




